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* Please check that this question paper contains 11 printed pages.

¢ Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

» Please check that this question paper contains 36 questions.
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students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :

i
{ii)

(i)
(o)
(v)

(vi)

1. I gl gal @l #e 4l

All questions are compulsory.

 Questions number 1 to I are of one mark each. The answers to

these questions should not exceed 20 words each.

Quesiions number 11 1o 20 are of fwo moarks each, The answers o
these questions should not exceed 40 words each.

Questions number 21 v 30 are of four marks each, The answers (o
these questions should not exceed 100 words each.

Guestions number 31 to 35 are of six marks each. The answers to
these questions should not exceed 150 words each.

Cuestion number 35 iz hased on Map. Write the answer in your
Ansicer-Book.

TR U U SNR-EE W (WD W &% gEst gwom

_H wEmRE e omr o

Fill in ihe blanks with appropriate words ;

The South Asian Free Trade Agreement (SAFTA) was signed by the
members of in the year

2. afaae 9 @ o sl @7
What is meant by ASEAN way ?
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Correct and rewrite the following statement :

USSR Russia used veto power B2 times till 2006.

NE-Aed [ TER TERTE g 3 UE TS 77 1
How iz balance of power a component of traditional security ?

g E e W g e oad g ogr 2 ' 1
In which year was the First General Election held in India ?

ol deenly dldw s ga g sy @ 7 : 1
What was the main objective of the Second Five Year Plan 7

gd-agel 4 o W § 7 1
What iz meant by defection ?

FE § TE WOT F TGS e S EWmE W o 2 i
The results of which elections were called “political earthquake® ?

Fousl sl 41 &1 ? i
What was Chipko movement 7

W UE iR % S T e S MEE e T 3 e o7 1

Whose mediation resolved the ‘Indus River Waters I[dspute’ bhetween
India and Pakistan 7

T TE T AW ¥ o e I oW sfemen w5 9 fomaed w owem
Hiaw | 2ul=2

Mention any two characterigtiea of the Soviet economy during the
Cold War days. .

¥4 w41 fadty fve 92 4 & yew 5 osmfs =1 seoee S | Zul=2
Mention the duration of the First and the Second World Wars.
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Write the four torms of power which reflect the U.8. hegemony,

"SRR TR WISH A ? 2

What was ‘Operation Enduring Freedom' ?

- T S | 2
Define Geo-politics.

(31) TEEA

(7)) TR

Name the original states {rom which the [ollowing stales were carved
out

(a)  Meghalaya
(h)  Gujarat

g BN ¥ A wEEl B Hem T ogEn w@a @ g 9 s dif 2

Explain the role played by Sardar Palel in the integration of Princely
States into the Indian Union.

g fam 7 1+1=2

When and why did India sign the twenty-years “Treaty of Peace and
Friendship’ with the Soviet Union 7

s =R = g wEEd o sgeml k dme § ouE oAn i mw B T 7
THH TIE T W -9 5 w7 1+1=2
Which aclion of lhe Government of Indiaz threatened the fishworkers

lives in a major way ¢ Which organization did they _R}rm al the
national level ?
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24.

25.

26.
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TEAET F OFTEAl § Teetas gHEAw AfEr 59 OF 1 1989 ¥ TP TR F wER
At 1996 4 d9q% 4 W wER ¥ % wmyren 49 oiekn ol g 2 I+1=2
Political equations in coalition governments are unstable, How was

this conecept reflected in the formation of MNational Front Government
in 1959 and United Front Government in 1896 7

‘T & foaEd 492 @ e sy | 4

Explain the ‘Cuban Mizsile Crisig’

il i ST E ol W= e ot s B B e | 242=4

Deseribe any Lwo major constraints of the TS, hegemony.

IR, W, WIE 99 [ RN ¥ ¥ Sow § TR-UE 2w & AW fafEn
qE Hgw U R e sfEE S T dxi=4

Name one country each from the continents of America, Africa, Asia
and Eurcpe. wherein Lthe UN. ‘Peacekeeping Operalions’ were
administered.

s fidmar fow waR B @ Hw & 7 smen Sfg 4

How is global poverty a source of insecurity 7 Explain.

IR i B Gl s D i O O o e O 4o e
T HOHEET FAY
218=4

‘Let the polluters pay.” Support this statement with any two suitable
arguments.

“SEEAT ¥ T A TE-TED ¥ WM W OATES TUOwE % A R AL
2" @ w99 3 e S 4

“(ilobalisation has shifted power [rom nation-states to global
consumers.” Justify the statement.
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28.
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ffeiEd =7 89 S0 - dul=d

(%) F=E TF o (i) e s o

(B TE T (i) WRATg M HEY

(m TH R (i) v S e

| =R T I (iv) WRAT FHgfAe T ()

Matck the lollowing :

(a)  Acharya Narendra Dov (1) Bharativa Jana Sangh

(b AK. Gopalan (i1} Indian National Congress

{c) Rafi Ahmed Kidwai (iii) Praja Socialist Party

{d) Deen Dayal Upadhyava (iv) Communist Party of India (M)
RGBT e 7 B o e e e e 2+2=4

Explain any two features of Indian nueclear policy.

“1960 ¥ TIF | TIEF 0% TR T 2 5 AR TE BN I TR S EE
?Erﬁl'[[I gy =4

“1960s were labelled as the ‘dangerous decade’,
help of any four arguments.

* Explain with the

IR 1985 7 Teg MH — wiae wag o e 9o #75oar 4

What was the main outcome of the Rajiv Gandhi - Longowal Accord
in July 1985 7

Vi gE W g9 % T -y oo & uifiier g 4 2 wman

FifeT | a
syera
TI-GrEEE] B % WY 9RT % "9sod e & Eyeme FifEe ) 6

What is the relevance of the Non-aligned Movement after the end of
Cold War 7 Explain.

OR

Analyse India's changing relationship with post-Communist Russia.



82. TiE ¥9 & fE®, TGS T HAE A ¥ TR F0 wAEEel anE ared w6
W AR 7 322=6
Hega
FE W LT W AR F | uR S A7 A & N 3o deeer ®
Sepl wEd & faadl 6 sifaw @ 3 W owEd aedl #i veei @ s gsal
&8 | W st 9w Ted sdw sR o st weene §oswH g e
¢ fredt = omdl # oame 3 9 S ted Wew gT § | 9 F weifes wEEd
TR S WY E 3 T We-dW we § TE 99 SR R ) w9 s
st Sedie § FRE U WRY % ¥ 9 a2 ¥ SR Gwad M | W
1991 & 5 ¥ T0% A4S EE S TAEd 4T § |

o fou T sman = e e Fifan qur FefefEa svE $ e S

(1) &7 & <3N A ARG A= F@ o E )

(@ 57 @ 3 9 YR SR FE TR SR w7

(g) =M 3t uEEE # vEHEE wEEd F R v T v owd e @
FAT § HT 2+2+2=6

Why is the Furopean Umion considered a highly influential regional

organisation in the economiec, political and military fields ?

OR

No region exists in a vacuum. It is influenced by outside powers
and events no malier how much it may try to insulate itself from
non-regional powers. China and the United States remain key players
in South Asian politica. Sino-Indian relations  have improved
zsipnificantly in the last ten vears, but China’s strategic partnership
wilh Pakiztan remains a major irritant. The demands of development
and globalisation have brought the two Asian giants closer, and their
econamic ties have multiplied rapidly since 1991,

Study the paragraph given above carcfully and answer the following
queslions -

(el Which two countries have been relerred to as ‘outside powers' 7
(b)  Which are the two Asian giants and why have they heen called g0 7

(c) Chinga's atrategic partnership with Pakistan iz a major irritant for
which country and why 7
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I HTH T % WS AR el & UF TEd el H s a4 7

e fean H T o1 0 &4 ¥ UeETaEd e wEed B oar @ 7 4+3=6
e

T ST A F IR FErE AR S fGEw ¥ aehe fEE 4 o

TFE TE W FTE WA | 6

How was ‘one parly dominance’ in India dillerent [rom Lthe ‘one party
svstem’ of Mexico ? In your opinion, which of the two political systems is
better and why ¥

OR

Explain the main arguments in the debate that ensued between
industrializgation and agricultural development at the time ol Second Five
Year Plan.

Mg FEE aTeEs w4 1 7 rEs g gE e ¥ Y s Af gem w4 o
Tw Aatas e w e e T 2 2+2+2=6

HAAT

1989 ¥ FfaT Toae 3 oE W F e, T IE & 49 U HEET T
W 9g W 4 | e wen % R O fagel & aren Rl | 2x2-

What was Marmada Bachaa Andolan ¥ What were its main issues ¥ What
demecratic strategy did 1t use to put forward ils demands ?

OR

In the wmidst of zevere competition and many conflicls in 1989, a
consensus appeared Lo have cmerged among most parties. Txplain any

three puints of consensus.



35. 1975 & sMERE H ISR g wE dmdy A sesiiel sRoaa F e
a-d fargsl &1 avlq Fifew | 3+3=6

o T S 1 1

st m @ F s m o @, B, © O, ®aq ©F
g @ U gyie e # ) AR o8 amsd o ggwen 9, 39 o & et
A1 Sk HE AW, WAES & w4 Hwm 30 geiwd e wfed HefiEg e
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i) & ey s @ e ) oagma e iR =N SR TR
(i) T T WE W w SEn A ST a9, sEE W g §

=E1 AgeEyel 4 | .
(iii) TF T e FUW WE * gy @ A% e w394 O 5E # e

d R T
(iv) % 77 98 ‘NI TR = W TER T 2+2+1+1=6
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23/

Describe any three weaknesses and any three points of strength of
India’s democracy that came to light during the Emergency of 1975.

OR

., ASSEMBLY ELECTIONS
1967

o
-

In the given political outline map of India, six states have been
indicated by @, @, © O, ® and @, Identify them with the help
of the information given below and write their correct names in your
answer-book alongwith their respective Serial No. and the alphabet
concerned as per the lollowing table :

S1. No. Alphabet Name of the State
{1l Two states where the Conpgress party gol majority and formed the
government.

(iiy Two states where the hreakaway Congress legislalors played an
important role in installing non-Congress governments.

(i) A state where Congress party did not get majority but formed the
government with the help of other partics.

(ivi The state where Popular United Front' came into power.
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(ii)

(111}

(iv)

e ¥ @90 givgia gheneE) & 9w wvT FEn 35 & W W E |

The following gquestion is for the Blind Candidales only, in liew of
R No. 35

1967 & 9=l § Fiw vl F Gas v § v W wg g9e e 2

U g awEl F AW ffET 99 S T oA-gen W SR S0 SR
Gl U |

'S T, T A SR S ¥ o sy # 7

3 799 & AW fAfE wE 1967 § TR gAEfes S ¥ weE T |

In how many stules did the Congress party lose power in the
1967 elections 7

Name any two states where the Congress parlty was prevented
from forming a government due to defections.

What is meant by the expression ‘Aya Ram, Gaya Ham’' 7

In which state did the ‘Popular United Front’ come into power in
1967 ?



